Chemistry 3331-100
Organic Chemistry/Dr. Barney Ellison
Thursday: Nov. 21" @ 7:00pm — 9:00/2™ Exam/Hale 270

Name: K"ﬁ (please print)

1. (10 pts) Write the structure of the products formed in each case.

a)
O S
K L,/@

NaOH
C(CHy); + CH,CH,SH
H,O
CH
. \"? o Ch
L E—_-.grcﬂb-ﬁ'l
(/LY Ay
‘-\Iﬂ.-’
3
=
CHO NaOH e ! 4) q
\ / +CH,COCH; o = 3
b)
O )
i CHO
42 eH,- ¢ ~CHy ARG
| ‘:C-' FL I |
§ )-ch-ol

\ %;_? ér eh=ch- ¢ _[ﬂﬁ.



2. (10 pts) Write a synthesis for each of the following (use any
reagents you need).
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3. (10 pts) When this dicarboxylic acid is heated, two isomeric
products are formed. What are they?
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4. (20 pts) Write the structure of the products formed in each case.
a) bromobenzene + CH,COC¥{ + AICE, — 7

b) 1-butanol + CH,COC¢ —» ?
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5. (10 pts) Starting with 1-pentanol and CH,CHO devise a synthesis
of the isotopically labelled ester:

CH,CH,CH,CH, _IBDCHICHJ. Use H,"0O as the source of 50,
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6. (10 pts) Outline reasonable mechanisms for each of the following,.
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7. (20 pts) Write a synthesis for each of the following (use any
reagents you need).

a) cyclohexanol to N-methylcyclohexylamine
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8. (10 pts) Suggest reactions that will carry out the following
transformation.
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